50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equztions written eg, 42+8

USN |/}

Time: 3 hrs. \

‘DEPARTMENT (Dname Dnumber Mgr ssn, Mgr st date)
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15CSS3

Flfth Semester B.E. Degree Examination, Dec.2017/Jan. 201;8«

Max. Marks: 80

Note: An&w r FIVE full questions, choosing one full question ﬁomketfe"i*z\mgdule.

Module-1 :

characterlstlcs of the database approach Versu> the file processing

(08 Marks)

chema architecture with neat diagrami W,hyi do we need mappings

How do different schema de ' mm languages support this
{ (08 Marks)

a. Explain the m
approach.

b. Explain the three
among schema level
architecture?

& OR

a. Discuss with examples, dlfferentAgypes of attributes.

b. Draw an ER diagram for a BA(NK ‘database schcﬁ'aa:
specify primary key and structural: Cﬁnstralnts (09 Marks)

(07 Marks)

a. Describe the characteristics of relations’ Wrth sultdble example for each. (08 Marks)

b. What are the basic operations that can change ‘the states of relaticns in the database? Explain

now the pasic operations deal with const‘ mt leatlons : (08 Marks)

a. Describe the steps of an algorlthm ER —to- relatroﬁal mappmg (10 Marks)

Module-3
Consider the COMPANY D T(&BASE

DEPART LOCATIQNS{Dnumber Dlocatlon)

DEPENDENT (E\ss\l;,‘Dependent name, Sex, Bdate, Relationship).
Specify the following queries in SQL on the database schema given above :
a. For every project located in Stafford, list the project number the controlhng (department

number’ and the department manager’s last name, address and birth date. o —(04 Marks)
b. List the names of all employees who have a dependent with the same first ;name as
themsel\'es \({12 Marks)
C Fnr each project, list the project name and the total hours per week (by all employees) spent
i that project. 04 Marks) Y
d,- _I\emeve the name of each employee who works on all the projects controlled by ‘Research” £
department. (06 Marks)
OR
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Deﬁne Stored Procedure. Explain the creating and calling of stored procedure thb sunable

example. /7. (68 Marks)

Explain_ the Single — tier and Client — server architecture, with neat diagram. /j\\ (08 Marks)
% Module-4 '

Explam the mformal design guidelines used as measures to determine thequahty of relation

schema desi B0/ / /N (08 Marks)

Define Normai ﬁacm Explam INF, 2NF and 3NF with suitable exampi"\s for each. (08 Marks)

‘ OR

Define Minimal cover. ‘Write an algorithm for finding a mmlmél cover F for a set of
functional dependencxes E Find the minimal cover for the gl\{en set of FDs be (08 Marks)
E:{B—A,D—A, AB—AD} §
Consider the universal relation R ={A,B,C,D,E, F G. H\ 1 J} and the set of functional
dependenmes (08 Marks)

={{A,B} = {C} , {A} —”D E} {B} —{E}, {F} =»{G,H}, {D} — {1, J}}.
Determme whether each decomp@sn;mn has the lossless jom property with respect to F.
D; = {R, Ry, R3} Rl—{ABCDE} Rz—{BFGH} ; R3={D,1,J}.

Why Concuirency control is needed demdfist\r‘@‘t\é"With example? (12 Marks)

Discuss the desiraoie properties of transactxo*ga (04 Marks)
OR

When deadlock and starvation pmblcms occurs" Explam how these problems can be

resolved. ) (09 Marks)

Explain how shadow paging helps to recover from tmnsactlon failure. (07 Marks)

* %k k % %
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